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Ch 3 CODING-DECODING

ANSWERSAND EXPLANATIONS

1. (a) As,

UL S E
-1 -1‘ -1‘
O T K R D

1 -1
M DV

and TEW

l{ reverse order

D RK T O V DM
Simularly,
P RO B E S
—1‘ -1 -1 —1‘ —1‘ —1‘
O QN A DR
reverse order
R DA NOQ O
Hence, required code : RDANQO
2. () 1 2 S04 5 4 1 3 5
A M O N G "N A O G
I A W 4 1 3 5
s+.p I N E - N 8 [ E
Hence,
1 2 3 4 B 4 1 3 5
L A MO N —» O L M N
3. (d) As,
I il
+1 +1
1 M
Similarly,
C T
+1 +1
D u

3

l’reverse order

4 () N A M E
\LH ‘LH \L+1 J’H \Lﬂ
O B N [T

$ reverse order
T F N B O
Similarly,
cC R A N B
l/+1 $+1 ‘L+1 l,+1 ‘L+1

B O F

‘L reverse order
. OB S D

5. ' (a). As,

D A Y L O N G
_ll
5 +17 31 +1,7 [\
M Z B E K H O P
2
P Similarly,
C O R D I A L
2 -1
A +1,7 L3+l +1,/ LI3\+1
S P D @ M B J

6. (c) CIG »GIC, ARE —ERA, TTE —ETT
— DIR ECT ION —» RIDTCENOI

7. (b) Each letter of the word is moved four steps
forward to obtain the code.

8. (b) Each letter of the word 1s moved three steps
forward to obtain the code.

9. (a) The first, second, third, fourth, fifth and sixth
letters of the word are respectively moved two,
three, four , five, six and seven steps forward to
obtain the corresponding letters of the code.

d W, LW N
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10. (d) As

11.

L2,

13

14.

15.

ATION

(b)

(2)

(2)

(d)

(a)

Similarly

=z

I -2
BRIN G—D
l

K
h+2 |
+2 T T

= —

o<

2

Each letter of the word is moved four steps
forward to obtain the code.

The first six letters and then the last six letters
are written in a reverse order to obtain the code.

If in the word, a letter is nth letter from the
beginning of the English alphabet, then in the code
the corresponding letter is the (n + 1)th letter
from the end of the alphabet.

As

p E R I N
1 VR R T T 1
Q F Q H @)
Similarly,

R @] M E
Gkl alodb] alem] ol
M C S P L D

3 Y N D
Iy R
T Z
Here, the coding has been done in two steps. In
the first step, the letters of the words are split
into two groups having equal number of letters,
1e.

\BANHKEM

After that the position of the groups are
interchanged. 1.e.

\KERHBAN

And in the second step, each letter is moved one
step forward.

 KER||BAN
%

Pt

16.

18.

19,

20.

2.

22

23,

24.

25

(2)

(b)

(b)

(a)

(d)

(c)

(d)

(d)

(b)

(b)

/A EBE A

INSTITUTE

uFSHCBo\

Thus the code for BANKAR is LESCBO. Similarly,
the code of CONFER can be obtained as follows:

\CONHFER

MERHCON\

‘G F SHD PO F—Codedword

The letters of the word are written 1n a reverse
order and each letter, except the first and the last
one, 1s moved one step forward, to obtain the
code.

First, third and fifth letters are moved one step
forward and second, fourth and sixth letters are
moved one step backward to obtain the
corresponding letters of the code.

The first, second, third
are respectively moved one, two, three,..... steps

......... letters of the word

backward to obtain the corresponding letters of
the code.

The letters of the word are written in a reverse
order and then the third and fourth letters from
the begining and the end of the word so formed
are reversed in order, to obtain the code. Thus,
the code for POPULARISE 1s ESRIALPUOP.

The odd-number positioned letters move two
letters backward and the even number positioned
ones move three letters forward. Thus PROJECT
will become NUMMCFR.

The first four letters are first written in reverse
order. This 1s followed by the last four letters,
also 1n reverse order.

Odd-positioned letters are coded as two positions
forward and even-positioned letters are coded as
three positions forward.

odd-placed letters are coded as two places
forward and even-placed letters are coded as four
places forward.

Each letter of the word is moved five steps
forward to obtain the code.

‘%“3@
S A S I N G
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D

26.

2

28,

29.

Similarly,
X 1l X
I K D N PA
{d) The letters of the word ACE are deciphered by
decoding ZXV. The letters are decoded by
substituting their represented letters in the natural
order, (1.e., 7’ 1st in the reverse series and ‘A’ 1s
Ist in natural series)
Z X v — letters in reverse series
A C E — letters in natural series
v vl
1st 3rd 5th —— Position of letters
{(d) The word is coded by moving the letters three
steps forward
CHAIR FKDILU
-3 | |
-3
-3
=3
)
Similarly,
RATID UDLG
=3 | |
—3
=3
—3
{a) The word is coded by moving the letters +4, +3,
+2, and +1 steps respectively.
JUNE NXPF
+4 | |
+3
+3
+1
Similarly,
STAY WWCZ
w4 |
+3
13
+1
(a) The letters of the word are coded by their

3

represented letters in the reverse series.

A C T I O N — letters in natural
series
Z X G R L M — letters in reverse
series
N 2
1% 3rd 20t of 5% 14% 5 Position of letters
Similarly,
H E A L T H — letters in natural
series
5 V. Z O G 8 — letters in reverse
series
2
g st qE 2t 0% 8 5 " Position of letters
30. (d) The alphabets in word EQUATE ‘are taken from
the given word EARTHQUAKE Tally the letters
from the coded word to get the answer code.
E'A R T H Q U A K E —
letters
MO G P E N T O 85 M —
code
E Q U A T E — letters to be
coded
M NIJT OFP M > answer code
31. (b) Alphabets whose codes are given
w > a
5 o T
T o W
All other alphabets will remain unchanged, so,
‘answer” will be coded as :
answer nragw
32. (¢) The word 1s divided into sections containing two

 W. N LW, N

letters each, the then the section are written
backwards.

APPROACH CHOA ST RE

—

Similarly,
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BABE

+6
+5
+6
+5

I|{1|7HJ

o ] ] 37. {(c¢) The letters of the word are moved to steps
33 {(c¢) The word is divided into three equal sections, forward
and the letters of first and third sections are written '
DOWN FQYP
backwards. i |
EXCURT ION CXE URT NOI +2
+2
+2
o Similarly,
Similarly, WITH YKV
SCIENT IST ICSTNE TSI | +2 |
£
+2
+2
34 {(a) The letters of the coded word are decoded the
represent letters in the reverse series. 38. (b) The alphabets are coded as shown:
U Z W V — (letters in natural series) o) S E o H A I P
F A D E — (letters in reverse series) 6 Q 5 1 7 3 4 5 9
Loy So, in SEARCH, Siscodedas 2, Eas 1, Aas 4,
217 26™ 23 22" —  (position of letters) R as 6, C as 7, H as 3. Thus, the code for
Similarly, SEARCH is 214673,
I F G H — (letters innatural series) 39, (b) Leta=], B=2 C53, w0y X524, Y=235,
R U 8 T .= (letters in reverse series) Z =26
y 1 | & Then, M=13=1+3=4, 0O=15=1+5
e =6
ot gl TR 8% s - (position of letters)
L= 1251 2 =3 T=20=2+0=2;
35. (d) The letters of the word are coded by represented ’ ’
letters. To find the answer code, select the coded Y=25=2+5=7
represented letters. So, MOBILITY = 46293927.
HORSE CAT —> letters Similarly, EXAMINATION = 56149512965
BUNGY HOW  — substituted letter cades 40. (c) 15789 = XTCAL
S0, & 2346 = NPSU
CHEST —> letters = 23N,35P5>T.4>Sand 9> 1L
HBYGW — substituted answer letter Hence, 23549 will be coded as NPTSL.
codes 41. (a) The alphabets are coded as shown :
36. (a) The letters of word are moved six and five steps
forward alternately. ENGLATDTF R C
CHILD IMOQI 1 2 3 4 5 6 7 8 9
+
+2 | | So, Giscodedas 3, Ras §, Eas 1 and C as 9.
16 Thus, GREECE 1s coded as
+5 381191.
+6
Simsiladly 42 (c¢) The alphabets are coded as follows:
%
a7 Wi N RWiN
gl
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43,

44.

45.

46.

47.

48.

49,

D EL HI C A U T
7 3 5 41 8 2 9 6

So, in CALICUT, Ciscoded as 8, Aas 2, L as 5,
Tasl, Tas 9and T as 6. Thus, the code for
CALICUT i1s 8251896,

Code for the given word = (Number of letters in
the word) —1.

So, code for GOVERNMENT = 10 — 1= 9.
Difference between alphabetical positions of

N and O = 1 = difference between 2 and 3

(c)

()

Difference between alphabetical positions of
O and R = 3 = Diff. between 3 and 6.
Similarly, for REST,

difference between R and E = 13,

difference between E and S = 14

and difference between S and T = 1

Here, only option (¢) follows above condition

{c) The alphabets are coded as follows :

CLOKTIME
34258679

So, the code for MOLEK is 724 9 5.
Z=52=26x2
ACT =122 +3 x2+20 %2 =48

(d)

[Alphabetical position numbers has been
doubled]

= BAT=2x2+1x2+20x2=46
Here 25 A3-51L.55G4->Uand 9> T
Hence, 23549 will be having the code ALGUT.

X3$*%

{a) The number represent letters and to find the

answer, select the respective letters.

341782 0592 —  letters
MONKEY RAGS — code

So,

75195044 — code

3

KANGAR OO

— answer letters

50. (¢) The manner of coding is

51.

52.

53,

54.

55.

56.

(a)

(b)

(d)

(c)

(c)

 W. N LW, N

TODAY WROTE DATE DIRTH
45738 10542 7342 79046

The number “5” 1s common in words TODAY
and WROTE, and so i1s the letter ‘O, Letter “T"
cannot be the answer because it 1s common in
all the four words and so 1s its number code *4°.

Position of D alphabetically = 4

Position of F alphabetically = 6

Thus D + F = 10 = position of J in alphabet.
‘Kit Mit Fit’
(1)

*Zit Rit Kit” means«“Laborious Is Dangerous’
(1)

and

means ‘I Am Laborious’

*Sit Fis Rit” means *Dangerous Extremely painful

(111)

From (i) and (ii), ‘Kit’ means ‘Laborious” and

from (ii) and (iii), ‘Rit” means ‘Dangerous’
From (ii) it is clear that for *Is’ the code is

Zit’

‘ni tim si’ means ‘How are you’ .......... (1)

‘ble ni si” means ‘where are you’

From (i) and (ii), ‘ni si” means ‘are you’
ble — where

In the first and second statements, the common
code word 1s ‘gnr’ and the common word 1s
In the
second and third statements, the common word
is ‘Games’ and common code word is ‘hyto’.
S0, ‘hyto” means ‘Games’. Thus, in the second
statement, ‘emf” means ‘Summer’.

‘Olympic’. So, ‘gnr” means “Olympic’.

In the first and second statements, the common
code digit is ‘2° and the common word is
‘carpet’. So ‘2’ means ‘carpet’. In the second
and third statements, the common code digit is
‘6" and the common word is ‘one’. So, ‘6 means
‘one’. Therefore in second statement, 5" means
“dust’.

‘289” means ‘Read from newspaper’
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57. (¢)

58, (a)
59, (¢)
60. (b)
61. {(a)

On comparing (1) and (ii), 2 is used for,

“from’ 62.

. From (ii) for tea the number is either 6 or 7.

In the second and third statements, the common
code 1s “9a” and the common word is ‘not’. So,

‘93’ means ‘not’. In the first and second

statements, the common codes are “7¢” and ‘3a’ 63

and the common words are ‘is” and ‘Eternal”™.
So, in the second statement, ‘8b” means “Enmity’.

In the first and second statements, the common
code word is ‘tingo” and the common word is
‘flower”. So, ‘tingo’ stands for ‘flower’. In the
second and third statements, the common code
word is ‘mst’ and the common word is ‘sweet’.
So ‘mst’ stands for ‘sweet’. Thus, in the second
statement, ‘rho’ stands for “fragrance’.

In the first and second statements, the common
code words are “cinto’ and ‘tsi” and the common

words are “her” and ‘is’. So, ‘cinto’ and ‘tsi” are &

the codes for ‘her” and ‘is’. In the second and
third statements, the common code words are
‘cinto’, “tsi” and ‘oind’ and the common words
are ‘her’, ‘1s’ and ‘literature’. Now, ‘cinto’ and
‘ts1” are codes for ‘her” and “is”. So, ‘6ind’ stands
for ‘literature’.

1 2 B — filtered coffee
ONE AL
AP night

and

Clearly, ‘6" stands for ‘very’.
RBM STD BRO PUS =the cat is beautiful

TNH PUS DIM STD = the dog is brown

..... (ii) -

PUS DIM BRO PUS CUS =the dog has the cat
..... (111)

(1) and (11) = STD PUS
(11) and (1) = PUS DIM = the dog
(1) and (i11) = PUS BRO = the cat
. From (iii), CUS = has

18

66.

Wi N LW N

{a) PIC

VIC @ —> winter @ cold

TO @ —> summer @
THO PA — nights are | hot
Clearly, *“TO’ stands for ‘summer’.

(b)

Code Sentence

1. gri chn brand new

2. gyp twoh very old

3. gri bur twoh old and new

4. chri deh gyp old brand car

The word ‘new’ is present in 1st and 3rd sentences
50 18 the code in lst and 3rd sentences and so is
the code ‘gri’. The word ‘car’ is only in the 4th
sentence and code ‘deh’ is repeated in any other

sentence.
(d)
neirl so good rainyi_daﬂ
51 ne po i daylis wornderiul

]

ne is common day 1s common

= ne means day
Again;  [rif jo
nefrif so

1 15 common

good| boy

good

!

good 1s common

rain day

= 11l mean good.

Thus, so means rainy.
{c) In first two sentences, ‘good’ is common
. ‘good’ stands for ‘dar’.
In last two sentences, ‘bad’ is common.
. ‘bad’ stands for ‘tok’.
In first and last sentences, ‘are’ i1s common.
. ‘are’ stands for ‘na’.
Hence in last sentence, ‘na’ stands for ‘are’
‘tok” stands for ‘bad’.
Thus, ‘tim” stands for ‘they’.

{a) The colour of clean sky is blue and blue means
green. Hence, the colour of clean sky is green.
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67. (c¢) The fruits grow on a ‘tree’ and ‘tree’ is called

12. (b)) GENIR
‘sky’. So the fruits grow on the “sky’. Ed b4 )
68. (&) We know, soap is used for washing clothes. 6l 139
Here, soap is called ink. condition (ii) is applied
.. Ink 1s used in washing the clothes. 13. (d) QUER I
Hence (e) 1s the correct answer. I P
69. (d) In the code, night is called sunshine. As we sleep T4l 97
in night, the correct answer is sunshine. condition (ii1) is applied
EXERCISE 2 A B L
EERE,
137 42
1. (a) 726395 = IMDNWI condition (i) is applied 15. (a) UNGR E
2. (e) 263847 = MDNBKT I A
$ 76 9 %
3. (d) 591248 = RWIMKB - ,
4. (c) 615824 = YIRBMY condition (ii) is applied SORAION (i efioNe
5. (b) 831795 — BNITWR 16. (a) 2976581 >B@$OP=B
17. (b)«7269534>KBO@PT$
6. ®) 270514
ViLly 18. (¢) 8135246 5>0OCTPBK®©
$%LTKQ 19. (&) 4352718 >=TPBS$C=
e faE . 20.9d) 9256473 5>XBPOKSX
condition (ii) is applied
7. (@) Letter |E |H [N |D|T|V
21. (e)
éé él' é ‘i é Condition 1s applied.
condition (1)'is applied 2. (0 Letter | K | Q|D 1]
' Code |7 163|924
8. ()78 75306
bl
0
H%T#L1J 23. (a) Letter |A | J|N |V | Q|E
condition (ii) is applied Code | # 9|28 |6|#
9. (&) 592476 Condition is applied.
Lidldd
T@Q $%H 24, (b) Letter | Q| H|JT |V |N|D
' Code |64 |98 |23
10. (d) 468910
llliil’ Lett ITI'K|E|D|H|A
$HT @K* etter
25. @) [Code [9]7 |13 |4 |#
condition (111} 1s applied
1. () ENI MY Condition 1s applied.
RERE
1 73 2 8
% /A NR /A



